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=12.01,N=14.01,0=16.00, Na=22.99,P=30.97,S=32.06, Cu=063.55 Ag=

CHMI151 Quiz 3a

Molar Masses: H=1.008, C
107.9,1= 1269

1. (2 Pts) If 0.66 mole of a substance has a mass of 99 g, what is the molecular mass of the substance?
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2. (6 Pts) Determine the number of moles of water pmd;_ccd by the reaction of 155 g of ammonia and 356 g of

OXygen.
4NH; + 502 — 4NO + 6H,0
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3. (6 Pts) Phosphorus reacts with iodine as shown in the chemical reaction below. What is the percent yield of the
reaction if 28.2 g PI; is obtained from the reaction of 48.0 g of I, with excess phosphorus?

2P(s) + 315(s) — 2PI5(s)
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4. (4 Pts) What is the minimum mass of oxygen gas necessary to produce 200. g of sulfuric acid in the following

reaction?
2S02 + 02 +2 Hzo o 2H2804
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5. (4 Pts) How many grams of silver nitrate are necessary to react completely with 7.000 moles of copper?
Cu+2 AgNO3 o d CU(NO3 )2 +2 Ag
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mass of carbon in Na,COs.

6. (3 Pts) Calculate the percent composition by
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